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1. This paper contains two sections - Section 'A' (Question No. 1

to 35) and Section 'B' (Question No. 36 to 70). All questions

are compulsory of both the sections.

2. Each question carries one mark. There is no Negative

Marking.

3. Every question has four alternative answers (A, B, C, D) Only

one answer is correct. The answer which you think to be

correct, the corresponding oval should be darkened by Black

ball point pen only in OMR answer sheet.

4. Do not write anything inside question booklet Rough work

should be done only in space provided for the purpose in this

booklet.

5. Read the question paper carefully before darkening the Ovals

in Answer sheet, otherwise once they are darkened you will

not be in a position to alter your sheet.

6. After completing test. Check all entries that you have completed

in question booklet and answer sheet and return your question

booklet along with answer sheet to the invigilator.

lkekU; funsZ'k %
1- bl iz'u&i= ds nks [k.M gS& [k.M ^v* ¼iz'u la[;k 1 ls 35½

rFkk [k.M ^c* ¼iz'u la[;k 36 ls 70½ gSaA nksuksa [k.Mksa ds lHkh
iz'u vfuok;Z gSaA

2- izR;sd iz'u ds fy, ,d vad gSA _.kkRed vad dk izko/kku
ugha gSaA

3- izR;sd iz'u ds pkj  oSdfYid mÙkj ¼A, B, C, D½ gSaA dsoy ,d
mÙkj okys vksoy dks vks-,e-vkj- mÙkj&i= ij dkys ckWy isu ls
dkyk dj nsaA

4- iz'u  ds vUnj dqN Hkh u fy[ksaA jQ dk;Z dsoy mUgha
LFkkuksa ij fd;k tk; tks blds fy, iz'u iqfLrdk esa fu/kkZfjr
fd;k x;k gSA

5- mÙkj&i= esa vksoYl dks Hkjus ls iwoZ iz'u&i= dks /;ku ls i<+sa vU;Fkk
,d ckj vksoy Hkjus ds i'pkr mÙkj cnyuk laHko ugha gksxkA

6- ijh{kk dk QkeZ lEikfnr djus ds mijkUr iz'u&  ,oa mÙkj
izi= esa vius }kjk iwfjr iwfrZ;ksa dh tk¡p dj ysa vkSj mlds mijkUr
d{k ifjizs{kd dks viuh iz'u iqfLrdk ,oa mÙkj&i=d lkSai nsaA
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1. If the statement no philosopher are industrialists

is given as time which of the following statement

can be immediately inferred from it to be true

(A) No philosophers are rich persons

(B) All industrialist are philosophers

(C) Some philosophers are industrialist

(D) Some philosophers are not industrialist

2. Assertion A: Deductive arguments are either

invalid or valid.

Reason R: All detective arguments claim that if the

premise are true then the conclusion must be true

(A) both A and R are correct and R is the correct

explanation of A

(B) both A and R are correct and R is not the

correct explanation of A

(C) A is correct but R is not correct

(D) A is not correct but R is correct

3. In the submission of thesis, if a student is found to

commit plagiarism of Level 3 as Per UGC

Regulations 2018 Plagiarism, the following

Penalty will be imposed-

(A) Student shall be debarred from submitting

the revised thesis for a Period of one year.

(B) Student’s registration for that programme

shall be cancelled.

(C) Student shall be debarred from submitting

the revised thesis for 6 Months.

(D) Students shall be asked to submit the

revised thesis within 6 months.

4. Identify the features of qualitative research, from

the following.

(i) Researcher becomes immersed in the

situation present or Past

(ii) Researcher is detached from the Study to

avoid bias

(iii) It develops context-bound generalizations

(iv)  It is based on logical Positivist Philosophy

(v) It used an emergent research design.

1- ;fn dFku dksbZ Hkh nk'kZfud m|ksxifr ugha gS dks lR;
ekuk tkrk gS rks fuEufyf[kr esa ls dkSu lk dFku rqjar
lR; gksus dk vuqeku yxk;k tk ldrk gS\
¼A½ dksbZ Hkh nk'kZfud vehj O;fä ugha gS
¼B½ lHkh m|ksxifr nk'kZfud gS
¼C½ dqN nk'kZfud m|ksxifr gS
¼D½ dqN nk'kZfud m|ksxifr ugha gS

2- vfHkdFku A: fuxeukRed ;qfä;k¡ ;k rks voS/k gksrh gS ;k
oS/k gksrh gS
dkj.k R: lHkh fuxeukRed ;qfä;k¡ ;g nkok djrh gS fd
;fn vk/kkj okD; lR; gksrs gSa rks fu"d"kZ Hkh lR; gksuk pkfg,
¼A½ A vkSj R nksuksa lgh gS vkSj R] A dh lgh O;k[;k gS
¼B½ A vkSj R nksuksa lgh gS vkSj R] A dk lgh Li"Vhdj.k

ugha gS
¼C½ A lgh gS ysfdu R lgh ugha gS
¼D½ A lgh ugha gS ysfdu R lgh gS

3- Fkhfll tek djus esa] ;fn dksbZ Nk= lkfgfR;d pksjh ij
;wthlh fofu;eu 2018 ds vuqlkj ysoy 3 dh lkfgfR;d
pksjh djrk ik;k tkrk gS] rks fuEufyf[kr tqekZuk yxk;k
tk,xk
¼A½ Nk= dks 1 o"kZ dh vof/k ds fy, la'kksf/kr Fkhfll

tek djus ls jksd fn;k tk,xk
¼B½ bl dk;ZØe ds fy, Nk= dk iathdj.k jí dj fn;k

tk,xk
¼C½ Nk= dks 6 eghus ds fy, la'kksf/kr Fkhfll tek djus

ls jksd fn;k tk,xk
¼D½ Nk= dks 6 eghus ds Hkhrj la'kksf/kr Fkhfll tek

djus ds fy, dgk tk,xk
4- fuEufyf[kr esa ls xq.kkRed 'kks/k ds y{k.kksa dh igpku

dhft,%
¼i½ 'kks/kdrkZ orZeku vFkok foxr dh fLFkfr;ksa ls fuexz

jgrk gS
¼ii½ 'kks/kdrkZ v/;;u ls vlayXu jgrk gS rkfd og

iwokZxzg ls cp lds
¼iii½ lanHkZ&;qä lkekU;hdj.k fodflr djrk gS
¼iv½ ;g rkfdZd çR;{k oknh n'kZu ij vk/kkfjr gS
¼v½ ;g ,d fodkl'khy 'kks/k vfHkdYi dk vuqç;ksx

djrk gS

Paper I – Research Methodology
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uhps fn, x, fodYiksa esa ls lgh mÙkj dks pqfu,
¼A½ ¼i½] ¼ii½ vkSj ¼iii½ dsoy
¼B½ ¼ii½] ¼iii½ vkSj ¼iv½ dsoy
¼C½ ¼i½] ¼iii½ vkSj ¼v½ dsoy
¼D½ ¼iii½] ¼iv½ vkSj ¼v½ dsoy

5- fuEufyf[kr esa ls dkSu lh fof/k fdlh fLFkfr] ?kVuk ;k
fdlh leL;k dh fo'ks"krkvksa dk o.kZu djus ds fy,
vk;ksftr dh tkrh gS
¼A½ o.kZukRed vuqla/kku
¼B½ ,sfrgkfld vuqla/kku
¼C½ ç;ksfxd vuqla/kku
¼D½ xq.kkRed vuqla/kku

6- fleju ,d 'kks/k i= fy[krs le; ,d lzksr ls dqN
iafä;ksa dh çfrfyfi cukrh gS vkSj mUgsa vius i= esa vr%
LFkkfir djrh gSA fuEufyf[kr esa ls dkSu lh lkfgfR;d
pksjh fleju ds ÑR; dk o.kZu djrh gS
¼A½ Lo&lkfgfR;d pksjh
¼B½ ekstsd lkfgfR;d pksjh
¼C½ iwoZ lkfgfR;d pksjh
¼D½ lzksr vk/kkfjr lkfgfR;d pksjh

7- QqV uksV~l vkSj ,aMuksV~l esa ç;qä fuEufyf[kr esa ls fdl
laf{kIr v{kj dk vFkZ m)`r dk;Z gS
¼A½  et.al

¼B½  loc.cit

¼C½  ibid

¼D½  op.cit

8- ,d 'kks/k v/;;u esa og pj tks çR;{k :i ls ns[kus ;ksX;
ugha gS ysfdu ftldk çHkko vkfØV pj ij vuqekfur
gksrk gS] mls dgk tkrk gS
¼A½ ckg; pj
¼B½ ekWMjsVj pj
¼C½ gLr{ksi pj
¼D½ mipkj pj

9- ,d egkfo|ky; ds çkpk;Z }kjk tutkrh; fo|kfFkZ;ksa
}kjk lkeuk dh tk jgh leL;kvksa dks u`tkfrd tk¡p djokbZ
xbZA çfrp;u dh dkSu lh fof/k lokZf/kd mi;qZä gksxh
¼A½ ;kn`fPNd çfrp;u
¼B½ Lrfjr çfrp;u
¼C½ xqPN çfrp;u
¼D½ O;ofLFkr çfrp;u

Choose the Correct answer from the options

given below.

(A) (i), (ii) and (iii) only

(B) (ii), (iii) and (iv) only

(C) (i), (iii) and (v) only

(D) (iii), (iv) and (v) only

5. which among the following mothed is conducted

to describe the characteristics of a situation,

phenomenon, or a problem?

(A) Descriptive Research

(B) Historical Research,

(C) Experimental Research

(D) Qualitative Research

6. Simran while writing a research Paper, copies a

few lines from a source and interlays them in

her paper. Which of the following describes

Simran's Act?

(A) Auto Plagiarism

(B) Mosaic Plagiarism

(C) Complete Plagiarism

(D) Source -Based Plagiarism

7. Which of the following abbreviations used in

footnotes and endnotes means ‘the work cited'?

(A) et.al

(B) loc.cit.

(C) ibid

(D) op.cit

8. In a research study the variable which is not

directly observable but whose effect is inferred

on the dependent variable is termed as:

(A) Extraneous Variable

(B) Moderator variable

(C) Intervening Variable

(D) Treatment variable

9. A collage Principal conducts an ethnographic probe

into the problem faced by tribal students. Which

method of sampling would be most appropriate?

(A) Random Sampling

(B) Cluster Sampling

(C) Stratified sampling

(D) Systematic Sampling
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10- fuEufyf[kr 'kCnksa ds lewg dks ?kVrs vk'k; ds Øe esa
O;ofLFkr djsa
¼i½ Lru/kkjh
¼ii½ okbYM dSV
¼iii½ fcYyh ds leku
¼iv½ i'kq
¼v½ d'ks#d
¼A½ ¼ii½] ¼iii½] ¼i½] ¼v½] ¼iv½
¼B½ ¼iv½] ¼v½] ¼i½] ¼iii½] ¼ii½
¼C½ ¼iii½] ¼ii½] ¼v½] ¼i½] ¼iv½
¼D½ ¼iv½] ¼i½] ¼v½] ¼ii½] ¼iii½

11- fØ;kRed 'kks/k &
¼A½ v/kkseq[kh vuqla/kku
¼B½ fdlh rkRdkfyd leL;k ds lek/kku dk ç;kl
¼C½ lkekftd vkfFkZd mís';ksa lfgr vuqla/kku
¼D½ O;kogkfjd vuqla/kku

12- losZ{k.k vuqla/kku v/;;u
¼A½ ?kVuk ¼B½ çfØ;k
¼C½ tula[;k ¼D½ ifjfLFkfr;k¡

13- fuEufyf[kr esa ls dkSu lk MsVk dk f}rh;d lzksr gS
¼A½ vfHkys[kh; MsVk
¼B½ çfrHkkfx;ksa dh Mk;jh
¼C½ jk"Vªh; uewuk losZ{k.k laxBu MsVk
¼D½ ekSf[kd vk[;ku

14- fuEufyf[kr esa ls Ldksil D;k gS
¼A½  if=dk ¼B½  m)j.k
¼C½  MsVkcsl ¼D½  fØ;kfof/k

15- 'kks/k lkfgR; dh ,d vPNh leh{kk dk mís'; gS
¼A½ lkexzh dk fo"k;ijd fo'ys"k.k
¼B½ ys[kdksa vkSj muds lac)rk ds ckjs esa tkudkjh çnku

djuk
¼C½ 'kks/k ç'u mRiUu djuk vkSj mu ç'uksa dks ekU;

djuk
¼D½ dbZ dk;Z vk/kkfjr LØhfuax vk;ksftr djrk gSA

16- Nk=ksa ds ckSf)d Lrj dh tkap gsrq mfpr e/; gS
¼A½ xq.kksÙkj ek/; ¼B½ lekUrj ek/;
¼C½ ekf/;dk ¼D½ cgqyd

10. Arrange the following group of terms in order to

decreasing intension

(i) Mammal

(ii) Wildcat

(iii) Feline

(iv) Animal

(v) Vertebrate

(A)   (ii), (iii), (i), (v), (iv)

(B) (iv), (v), (i), (iii), (ii)

(C) (iii), (ii), (v), (i), (iv)

(D) (iv), (i), (v), (ii), (iii)

11. Action Research means-

(A) A Longitudinal Research

(B) A search initiated to solve an immediate

problem.

(C) Web research using socioeconomic objective

(D) An Applied Research

12. Survey research studies

(A) Event (B) Process

(C) Population (D) Circumstances

13. Which among the following is a secondary

source of Data?

(A) Archival Date

(B) Participant’s Diary

(C) National sample survey organization Data

(D) Oral narratives

14. Which among the following is Scopus?

(A) Journal (B) Citation

(C) Database (D) Methodology

15. A good review of the research literature aims at:

(A) Subjective analysis of the content

(B) Providing information about the author and

their affiliation

(C) Generating research question and

validating these questions

(D) Conduct multiple task-based screening

16. A suitable average for testing the intelligence of

students is:

(A) Geometric mean (B) Arithmetic mean

(C) Median (D) Mode
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17- fuEufyf[kr esa ls dkSu lk lkekftd foKku vuqla/kku esa
MsVk laxzg dh ,d fof/k ugha gS
¼A½ ç'ukoyh ¼B½ losZ
¼C½ vuqlwph ¼D½ lk{kkRdkj

18- vuqla/kku esa dkSu lk pj.k lwpuk dh Js.kh dks fufnZ"V vkSj
O;ofLFkr djds 'kks/k i= ds fy, ,d dk;Zdkjh Fkhfll
cukrk gS
¼A½ vuqla/kku fMtkbu
¼B½ ,d ifjdYiuk dk fodkl djuk
¼C½ lkfgR; dh leh{krk
¼D½ MsVk dk fo'ys"k.k

19- cgqyd dh x.kuk esa oxkaZrj
¼A½ leku gksus pkfg,
¼B½ vleku gksus pkfg,
¼C½ lekos'kh gksus pkfg,
¼D½ mi;qZä lHkh

20- fuEufyf[kr esa ls dkSu Lora= vkSj fuHkZj pj ds chp dkj.k
vkSj çHkko laca/k dk lcls etcwr lk{; çnku djrk gS
¼A½ o.kZukRed lkaf[;dh
¼B½ lg&lEcU/k n`f"Vdks.k
¼C½ xSj&ç;ksxkRed n`f"Vdks.k
¼D½ çk;ksfxd n`f"Vdks.k

21- xzaFk lwph dk vFkZ gS
¼A½ QqVuksV
¼B½ dksVs'ku
¼C½ thouh
¼D½ lanfHkZr iqLrdksa] 'kks/k i=ksa] vkfn dh lwph

22- fjlpZ fMtkbu D;k gS
¼A½ vuqla/kku djus dk rjhdk tks fl)kar ij vk/kkfjr

ugha gS
¼B½ xq.kkRed ;k ek=kRed rjhdksa dk mi;ksx djus ds

chp p;u
¼C½ og 'kSyh ftlesa vki vius 'kks/k fu"d"kZ çLrqr djrs

gSaA mnkgj.kkFkZ ,d xzkQ
¼D½ MkVk ds laxzg vkSj fo'ys"k.k dh gj pj.k ds fy,

,d :ijs[kk
23- fdlh 'kks/k nLrkost esa lekurk dh tkap ds fy, fuEufyf[kr

esa ls fdldk mi;ksx ugha fd;k tk ldrk gS
¼A½ VfuZfVu ¼B½ mjdq.M
¼C½ vkbFksafVdsV ¼D½ tksVsjks

17. Which of the following in not a method of data

collection in social science research?

(A) Questionnaire (B) Survey

(C) Schedule (D) Interview

18. Which stage is research creates a working thesis

for the research paper by specifying and

organising the category of information?

(A) Research Design

(B) Developing a hypothesis

(C) Reivew of the literature

(D) Analysis of data

19. The class difference in the calculation of the Mode-

(A) should be equal

(B) should be unequal

(C) should be inclusive

(D) suitable all

20. Which of the following provided the strongest

evidence of cause-and-effect relationship

between independent and dependent variables?

(A) Descriptive statistics

(B) co-relational approaches

(C) non-experimental approaches

(D) experimental approaches

21. Bibliography means-

(A) Footnotes

(B) Quotations

(C) Biography

(D) vit of referred books research paper, etc.

22. What is a research design?

(A) A way conducting research that is not

grounded in theory

(B) The choice between using qualitative or

quantitative methods

(C) The style in which you present your

research finding e.g. a graph

(D) A framework for every stage of the

collection and analysis of data

23. Which of the following can not be used for

checking similarly in a research document?

(A) Turnitin (B) Urkund

(C) Ithenticate (D) Zotero
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24- 'kks/k çLrko rS;kj djus dh çfØ;k esa fuEu esa ls fdldh
vko';drk gksrh gS
¼A½ ifj.kke dk mYys[k
¼B½ vuqla/kku dh ;kstuk
¼C½ uhfr&fuekZrk ds fy, laLrqfr;k¡
¼D½ fo'ks"kKksa dh jk; tkuuk

25- fdlh lEesyu esa çdk'ku ;k çLrqfr ds fy, vU; fo'ks"kKksa
}kjk ewY;kadu fd, x, 'kks/k i= dks ekuk tkrk gSA
¼A½ lgdehZ leh{kk ¼B½ lkoZtfud leh{kk
¼C½ futh leh{kk ¼D½ vuqla/kku leh{kk

26- fuEufyf[kr esa ls D;k lqikfjHkkf"kr 'kks/k leL;k dh fo'ks"krk
gSA
¼A½ ;g O;kid vkSj vLi"V gS
¼B½ bldk ,d gh lek/kku gS
¼C½ ;g fof'k"V vkSj Li"V gS
¼D½ bl ij 'kks/k ugha fd;k tk ldrk

27- lkaf[;dh esa ekud fopyu dk mís'; D;k gS
¼A½ MsVk ds çlkj dks ekius ds fy,
¼B½ dsaæh; ço`fÙk dh igpku djuk
¼C½ ek/; dh x.kuk djus ds fy,
¼D½ eksM fu/kkZfjr djus ds fy,

28- vuqla/kku esa vkpkj&uSfrdrk dk D;k mís'; gS\
¼A½ fof'k"V vuqla/kku fof/k;ksa dks funsZf'kr djuk
¼B½ lkoZHkkSfed uSfrd ekud LFkkfir djuk
¼C½ 'kks/k ç'uksa dh nk;js dks lhfer djuk
¼D½ 'kks/kdrkZvksa ds chp çfrLi/kkZ dks c<+kok nsuk

29- fuEufyf[kr rdZ esa dkSu lh Hkzkafr dh xbZ gS
Þtc eSaus rqEgsa Qksu fd;k] rks rqe uk rks viuh d{kk
esa Fks vkSj uk gh ç;ksx'kkyk esa A rqe eq>ls D;ksa cp
jgs gks\ß
¼A½ ifji= rdZ ¼B½ jsM gsfjax
¼C½ tfVy ç'u ¼D½ fQlyu <yku

30- Þ;fn ,d cM+s ghjs dks NksVs&NksVs VqdM+ksa esa dkV fn;k tk,] rks
mldk ewY; [kks tk,xk] tSls ,d lsuk dks lSfudksa dh NksVh&NksVh
VqdfM+;ksa esa foHkkftr dj fn;k tk,] rks og viuh rkdr [kks
nsrh gS AÞ Åij fn, x, rdZ dks dgk tk ldrk gS A
¼A½ vuq:i ¼B½ fuxeukRed
¼C½ lkaf[;dh ¼D½ dkj.k

24 In the process of developing a research proposal,

which one of the following is required

(A) give the findings

(B) Plan of investigation

(C) Recommendation to the policy makes

(D) Seek experts’ opinion

25. A research paper evaluated by other experts

either for publication or presentation at a

conference is considered to have undergone:

(A) Peer review (B) Public review

(C) Private review (D) Research review

26. Which of the following is a characteristic of a

well-defined research problem?

(A) It is broad and vague

(B) It has a single solution

(C) It is specific and clear

(D) It cannot be researched

27. What Is the purpose of standard deviation in

statistics?

(A) to measure the spread of data

(B) to identify the central frequency

(C) to calculate the mean

(D) to determine the mode

28. What is the purpose of code of ethics in research?

(A) to dictate specific research methods

(B) to establish the universal ethics standards

(C) to limit the scope of research questions

(D) to promote competition among researchers

29. Which fallacy is committed in the following

arguments?

“When I called you, you were neither in your class

nor in the laboratory. Why are you avoiding me?”

(A) circular arguments (B) red hearing

(C) complex question (D) slippery slope

30. If a large diamond is cut up into little bits, it will

lose its value just ad an array is divided up into

small units of soldiers, its losses its strength.”

The arguments put above may be called as-

(A) analogical (B) deductive

(C) statistical (D) causal
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31. Which of the following arguments is an example of

the fallacy of a sadharna (Narrow middle term)

Accordingly to Nyaya (Classical Indian School

of  logic)?

(A) Sound is non-eternal because it is produced

(B) Sound is eternal because it is audible

(C) Sound is eternal because it is produced

(D) Sound is quality because it is visible

32. Which one of the following is applicable in

inductive logic in social research

(A) Theory, hypothesis, Pattern, Observation,

confirmation

(B) hypothesis, Observation, confirmation,

Theory

(C) Pattern, Observation, hypothesis,

confirmation, Theory

(D) Observation, Pattern, Tentative,

hypothesis, Theory

33. Identify the correct sequence of the following in

a research paper-

(i) Research methodology

(ii) Title

(iii) Literature review

(iv) Data Analysis

(v) Introduction

(A) (i), (ii), (iii), (iv), (v)

(B) (ii), (v), (iii), (i), (iv)

(C) (ii), (iii), (iv), (v), (i)

(D)  (v), (i), (iii), (iv), (ii)

34. A researcher has administered some during for

management of diabetes for 4 weeks in a group and

measured pre and post data for blood glucose level.

Which statistical tool will be used to analyse data?

(A) paired ‘t’ test

(B) independent ‘t’ test

(C) ANOVA test

(D) chi-square test

35. In order to begin research, one must:

(A) start with a number of clear goals

(B) start with a number of predefined objectives

(C) have a well-defined research method

(D) solve the research problem

31- fuEufyf[kr esa ls dkSu lk rdZ U;k; ¼rdZ dk 'kkL=h;
Hkkjrh; Ldwy½ ds vuqlkj ,d lk/kuk ¼ladh.kZ e/;
vofèk½ dh Hkzkafr dk mnkgj.k gS
¼A½ /ofu vfuR; gS D;ksafd ;g mRiUu gksrh gS
¼B½ /ofu 'kk'or gS D;ksafd ;g JO; gS
¼C½ /ofu 'kk'or gS D;ksafd ;g mRiUu gksrh gS
¼D½ /ofu xq.koÙkk gS D;ksafd ;g n`';eku gS

32- fuEufyf[kr esa ls dkSu lk lkekftd vuqla/kku esa
vkxeukRed rdZ esa ykxw gksrk gS
¼A½ fl)kar] ifjdYiuk] iSVuZ] voyksdu] iqf"V
¼B½ ifjdYiuk] voyksdu] iqf"V] fl)kar
¼C½ iSVuZ] voyksdu] ifjdYiuk] iqf"V] fl)kar
¼D½ voyksdu] iSVuZ] vLFkkbZ ifjdYiuk] fl)kar

33- ,d 'kks/k i= esa fuEufyf[kr dk lgh Øe igpkusa
¼i½ vuqla/kku fØ;k fof/k
¼ii½ 'kh"kZd
¼iii½ lkfgR; dh leh{kk
¼iv½ MsVk ijh{k.k
¼v½ ifjp;
¼A½ ¼i½] ¼ii½] ¼iii½] ¼iv½] ¼v½
¼B½ ¼ii½] ¼v½] ¼iii½] ¼i½] ¼iv½
¼C½ ¼ii½] ¼iii½] ¼iv½] ¼v½] ¼i½
¼D½ ¼v½] ¼i½] ¼iii½] ¼iv½] ¼ii½

34- ,d 'kks/kdrkZ us ,d lewg esa pkj lIrkg rd e/kqesg ds
çcaèku ds fy, dqN nok,a nh vkSj jä 'kdZjk ds Lrj ds fy,
iwoZ vkSj ckn ds MsVk dks ekik A MsVk dk fo'ys"k.k djus ds
fy, fdl lkaf[;dh; midj.k dk mi;ksx fd;k tk,xk
¼A½ ;qfXer ^Vh* ijh{k.k
¼B½ Lora= ^Vh* ijh{k.k
¼C½ ,uksok ijh{kk
¼D½ dkbZ&LDok;j ijh{k.k

35- vuqla/kku 'kq: djus ds fy, fdlh dks ;g djuk gksxk
¼A½ dbZ Li"V y{.kksa ds lkFk 'kq#vkr djsa
¼B½ dbZ iwoZfu/kkZfjr mís';ksa ds lkFk 'kq#vkr djsa
¼C½ ,d vPNh rjg ls ifjHkkf"kr 'kks/k i)fr gksuh pkfg,
¼D½ 'kks/k leL;k dk lek/kku djsaA
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36. ‘A time varying electric field produces a magnetic

field.’ This phenomenon is called :

(A) Kirchoff’s Law

(B) Faraday’s Law

(C) Ampere Maxwell’s Law

(D) Hert’s Law

37. The Meissner effect in superconductor is :

(A) The expulsion of magnetic fields from the

interior

(B) Increase in electrical resistance

(C) Increase in magnetic field strength

(D) None of the above

38. What is the value of anode current of SCR

comprising two-transistor analogy with the gate

current of 40 mA if the gain of PNP and NPN

transistors are 0.3 and 0.4 respectively?

(A) 253 mA

(B) 113 mA

(C) 73.33 mA

(D) 53.33 mA

39. The fission chain reaction will be critical if

multiplication factor (K) is:

(A) K = 1

(B) K > 1

(C) K < 1

(D) K > 2

40. Calculate the interatomic distance for given

Bragg’s angle = 30°, and for a plane (1, 1, 1) the

wavelength of x-ray incident is 1.75 A°.

(A) 3.31 A°

(B) 3.33 A°

(C) 3.031 A°

(D) 4.51 A°

36- ^,d le; cnyrk fo|qr {ks= ,d pqacdh; {ks= iSnk djrk

gSA* bl ?kVuk dks dgk tkrk gS %

(A) fdjpkWQ dk fu;e

(B) QSjkMs dk fu;e

(C) ,Eih;j eSDlosy dk fu;e

(D) gV~Zl dk fu;e

37- lqij d.MDVj esa ehLuj dk izHkko gS %

(A) baVhfj;j ls pqacdh; {ks= dk fu"dklu

(B) fo|qr izfrjks/k esa o`f)

(C) pqacdh; {ks= dh rhozrk esa o`f)

(D) mijksDr esa ls dksbZ ugha

38- ;fn PNP vkSj NPN V•kaftLVj dk ykHk Øe'k% 0-3 vkSj

0-4 gS] rks SCR ds ,uksM djaV dk eku D;k gS] ftlesa

40 mA dh xsV /kkjk ds lkFk nks V•kaftLVj lekurk 'kkfey

gS\

(A) 253 mA

(B) 113 mA

(C) 73.33 mA

(D) 53.33 mA

39- fo[kaMu Ük`a[kyk izfrfØ;k egRoiw.kZ gksxh] ;fn xq.ku

dkjd (K) gS %

(A) K = 1

(B) K > 1

(C) K < 1

(D) K > 2

40- fn;s x;s czSx dks.k = 30° ds fy, varjijek.kfod nwjh dh

x.kuk dhft, vkSj ,d lery (1, 1, 1) ds fy, vkifrr

,Dl&js dh rjaxnS?;Z 1.75 A° gSA

(A) 3.31 A°

(B) 3.33 A°

(C) 3.031 A°

(D) 4.51 A°

Paper II – Physics
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41. A man, who weighs 60 kg on earth, weighs 61 kg

on a rocket, as measured by an observer on earth.

What is the speed of the rocket?

(A) 2.5 × 108 m/s

(B) 2.5 × 10
7
 m/s

(C) 5.5 × 107 m/s

(D) 5.5 × 108 m/s

42. Calculate the hall voltage when the magnetic field

is 8 A/m–1, current is 4 A, width is 5 m and the

concentration of carrier is 1020 :

(A) 4.125 V

(B) 0.3125 V

(C) 4.2 V

(D) 0.4 V

43. The certain OP-amp has bias currents of 50 µA

and 49.3 µA. The input offset current is :

(A) 49.7 µA

(B) 700 nA

(C) 99.3 µA

(D) None of the above

44. Five non-interacting identical spin 
2

3  particles are

in the one-dimensional harmonic oscillator

potential 
22

2

1
)( xmxV ω= . The ground state

energy of the system is:

(A) ωh
2

7

(B) ωh
2

9

(C) ωh
2

11

(D) ωh
2

13

45. An ion C is four times heavier than an ion D. The

ratio of the thermal de-Broglie wavelength of ion

D to that of ion C is:

(A) 4:1

(B) 2:1

(C) 1:2

(D) 2 : 1

41- ,d vkneh ftldk otu i`Foh ij 60 fdyksxzke gS] ,d

jkWdsV ij 61 fdyksxzke otu dk gksrk gS] tc i`Foh ij

,d i;Zos{kd }kjk ekik tkrk gSA jkWdsV dh xfr D;k gS\

(A) 2.5 × 108 m/s

(B) 2.5 × 107 m/s

(C) 5.5 × 107 m/s

(D) 5.5 × 108 m/s

42- gkWy oksYVst dh x.kuk djsa] tc pqacdh; {ks= 8 ,fEi;j

ehVj –1] /kkjk 4 ,fEi;j] pkSM+kbZ 5 ehVj vkSj okgd dh

lkanzrk 1020 gS %

(A) 4.125 V

(B) 0.3125 V

(C) 4.2 V

(D) 0.4 V

43- dqN OP-amp esa 50 µA vkSj 49-3 µA dh ck;l /kkjk,a

gksrh gSaA buiqV vkWQlsV djaV gS %

(A) 49.7 µA

(B) 700 nA

(C) 99.3 µA

(D) mijksDr esa ls dksbZ ugha

44- ikap xSj&var%fØ;kRed leku fLiu 
2

3  d.k ,d&vk;keh

gkeksZfud nksyd {kerk 22

2

1
)( xmxV ω=  esa gSaA iz.kkyh

dh xzkmaM LVsV ÅtkZ gS %

(A) ωh
2

7

(B) ωh
2

9

(C) ωh
2

11

(D) ωh
2

13

45- ,d vk;u C vk;u D ls pkj xquk Hkkjh gSA vk;u D vkSj

vk;u C ds FkeZy Mh&czkWXyh rjaxnS?;Z dk vuqikr D;k gS\

(A) 4:1

(B) 2:1

(C) 1:2

(D) 2 : 1
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46. The density of a quantum system with two

microstates is given by 







1

1

1

2
. Choose the correct

option.

(A)
3

2

3

1
, =−= xz σσ

(B)
3

2

3

1
, == xz σσ

(C)
3

2

3

1
, −=−= xz σσ

(D)
3

2

3

1
, −== xz σσ

47. A piece of ice is added to water in a cup. The

entropy:

(A) is increased.

(B) decreased.

(C) undergoes no change.

(D) sometimes increases, sometimes not.

48. Pauli’s exclusion principle applies to:

(A) Maxwell Boltzmann’s Statistics

(B) Bose Einstein’s Statistics

(C) Fermi Dirac’s Statistics

(D) None of These

49. If the absolute temperature of a perfectly black

body is increased to twice of its value, the rate of

emission of energy per unit area will be :

(A) 2 times (B) 4 times

(C) 8 times (D) 16 times

50. Which of the following lines of a Balmer series

has longest wavelength:

(A) H
α
 line (B) H

β
  line

(C) H
γ
  line (D) Series limit

51. The spectral terms corresponding to L = 1 and S =

½ are :

(A) 2P
1/2

, 2S
1/2

(B) 2S
1/2

, 3S
2

(C) 2P
1/2

, 2P
3/2

(D) 2P
3/2

, 2P
5/2

52. The active centres in a Ruby laser are :

(A) Aluminium ions

(B) Chromium ions

(C) Both of these

(D) None of these

46- nks ekbØksLVsV okyh DokaVe iz.kkyh dk ?kuRo 







1

1

1

2
 fn;k

x;k gSA lgh fodYi dk p;u dhft,A

(A)
3

2

3

1
, =−= xz σσ

(B)
3

2

3

1
, == xz σσ

(C)
3

2

3

1
, −=−= xz σσ

(D)
3

2

3

1
, −== xz σσ

47- ,d di esa ,d cQZ dk ,d VqdM+k ikuh esa feyk;k tkrk

gSA ,UVªkih %

(A) c<+ tkrh gSA

(B) de gks tkrh gSA

(C) dksbZ cnyko ugha gksrkA

(D) dHkh&dHkh c<+rk gS] dHkh&dHkh ughaA

48- ikmyh dk cfg"dj.k fl)kar bl ij ykxw gksrk gS %

(A) eSDlosy cksYV~teSu lkaf[;dh ij

(B) cksl vkbaLVhu lkaf[;dh ij

(C) QehZ fMjkd lkaf[;dh ij

(D) mijksDr esa ls dksbZ ugha

49- ;fn ,d iw.kZ d`f".kdk dk fujis{k rkieku mlds eku ds

nksxqus rd c<+k fn;k tkrk gS] rks izfr bdkbZ {ks=Qy ij

ÅtkZ mRltZu dh nj D;k gksxh\

(A) 2 xquh (B) 4 xquh

(C) 8 xquh (D) 16 xquh

50- ckej Ükà[kyk dh fuEufyf[kr esa ls fdl js[kk dh rjaxnS?;Z

lcls yach gksrh gS %

(A) H
α
 line (B) H

β
  line

(C) H
γ
  line (D) Ükà[kyk lhek

51- L = 1 vkSj S = ½ ds vuq:i o.kZØeh; in gSa %

(A) 2P
1/2

, 2S
1/2

(B) 2S
1/2

, 3S
2

(C) 2P
1/2

, 2P
3/2

(D) 2P
3/2

, 2P
5/2

52- :ch ystj esa lfØ; dsanz gSa %

(A) vY;wfefu;e vk;u

(B) Øksfe;e vk;u

(C) ;s nksuksa

(D) mijksDr esa ls dksbZ ugha
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53. According to Yukawa’s theory, the nuclear forces

between the nucleons are through the exchange of :

(A) Positron

(B) K-meson

(C) Neutrino

(D) π-meson

54. The spin quantum number for Ω hyperon is :

(A)
2

1
(B) 1

(C)
2

3
(D) 3

55. The normalized wave functions of a particle in a

one-dimensional infinite square well are expressed

in terms of:

(A) Hermite polynomials

(B) Legendre polynomials

(C) Laguerre polynomials

(D) Bessel polynomials

56. Which of the following is NOT a property of

Laguerre polynomials?

(A) Orthogonality

(B) Recurrence relation

(C) Generating function

(D) Satisfying a second-order differential

equation

57. If the mean and variance of a binomial distribution

are 5 and 4, respectively, then the value of n is:

(A) 25 (B) 10

(C) 15 (D) 20

58. If S be an mechanical system with Lagrangian

L(p, q, t) and generalised coordinates q = (q
1
,

q
2
, ..........., q

n
), Then the Lagrange equations of

motion for S:

(A) Sonstitute a set of n first order ODE

(B) Can be transformed to the Hamiltonian from

using Legendre transform

(C) Are equivalent a set of n first order ODE when

expressed in terms of Hamiltonian functions

(D) Is a set of 2nd second order ODE

53- ;qdkok ds fl)kar ds vuqlkj] ukfHkdksa ds chp ukfHkdh;

cy fdlds vknku&iznku ds ek/;e ls gksrs gSa %

(A) ikWft+V•ku

(B) K-eslu

(C) U;qV•huks

(D) π-eslu

54- Ω gkbijvkWu ds fy, fLiu DokaVe la[;k gS %

(A)
2

1
(B) 1

(C)
2

3
(D) 3

55- ,d vk;keh vuar oxZ dq,a esa ,d d.k ds lkekU;hd`r oso

QaD'kal dks fdlds lanHkZ esa O;Dr fd;k tkrk gS\

(A) gekZbV cgqin

(B) yhtsaMj cgqin

(C) ySxq,jsZ cgqin

(D) csly cgqin

56- fuEufyf[kr esa ls dkSu lk ySxq,jsZ cgqinksa dk xq.k ugha gS\

(A) vkWFkksZxksuSfyVh

(B) iqujko`fÙk laca/k

(C) tujsfVax QaD'ku

(D) f}rh; Øe ds foHksnd lehdj.k dks larq"V djuk

57- ;fn f}in forj.k dk ek/; vkSj fopj.k Øe'k% 5 vkSj 4

gSa] rks n dk eku D;k gS\

(A) 25 (B) 10

(C) 15 (D) 20

58- ;fn S ySxzsaft;u L(p, q, t) vkSj lkekU;hd`r funsZ'kkad

q = (q
1
, q

2
, ..........., q

n
) ds lkFk ,d ;kaf=d iz.kkyh gS]

rks S ds fy, xfr ds ySxzast lehdj.k %

(A) n izFke Øe ODE dk ,d lsV xfBr djsa

(B) yhtsaMjs V•kalQkWeZ dk mi;ksx djds gSfeYVfu;u esa

cnyk tk ldrk gS

(C) gSfeYVfu;u dk;ksZa ds lanHkZ esa O;Dr fd, tkus ij n

izFke Øe ODE ds ,d lsV ds cjkcj gS

(D) 2nd nwljs Øe ODE dk ,d lsV gS
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59. Moment of Inertial, rotational kinetic energy, and

angular momentum of a body is I, E, and L

respectively, then:

(A) I = E/L

(B) L = EI

(C) E =2 IL

(D) )2( EIL =

60. The Miller indices h, k and l of parallel planes in a

BCC lattice should satisfy which of the following

X-ray diffraction reflection rules?

(A) h+k+l should be even.

(B) h, k and l should all be either even or odd.

(C) h, k and l should form Pythagoras triplet.

(D) all planes allow reflections.

61. Which of the following is a polar dielectric-

(A) Teflon (B) Quartz

(C) Nylon (D) Polyethylene

62. ___________ is a dominant mode in rectangular

wave guide.

(A) TE
11

(B) TM
31

(C) TE
10

(D) TM
21

63. A 50 kW carrier is to be amplitude modulated to

level of 85%. What is the carrier power after

modulation?

(A) 50 kW

(B) 42.5 kW

(C) 58.8 kW

(D) 25 kW

64. If  f (t) = e
at
, its Laplace Transform (for s > a) is

given by :

(A) )(
2

as
s

a
−+

(B)
)(2 as−

π

(C)
)(

1

as−

(D) Does not exist

59- fdlh fi.M dk tM+Ro vk?kw.kZ] ?kw.khZ xfrt ÅtkZ vkSj

dks.kh; laosx dk vk?kw.kZ Øe'k% I, E vkSj L gS] rks %

(A) I = E/L

(B) L = EI

(C) E =2 IL

(D) )2( EIL =

60- BCC tkyd esa lekukarj lery ds feyj lwpdkad h, k

vkSj l dks fuEufyf[kr esa ls fdl ,Dl&js foorZu ijkorZu

fu;eksa dks iwjk djuk pkfg,\

(A) h+k+l le gksuk pkfg,A

(B) h, k vkSj l lHkh dks le ;k fo"ke gksuk pkfg,A

(C) h, k vkSj l dks ikbFkkxksjl f=d cukuk pkfg,A

(D) lHkh lery izfrfcac dh vuqefr nsrs gSaA

61- fuEufyf[kr esa ls dkSu lk /kzqoh; fo|qr vfopk;h gS %

(A) Vs¶ykWu (B) DokVZ~t+

(C) ukbyksu (D) ikWyhFkhu

62- ___________ vk;rkdkj rjax xkbM esa ,d izeq[k

eksM gSA

(A) TE
11

(B) TM
31

(C) TE
10

(D) TM
21

63- ,d 50 fdyksokV okgd dks vk;ke dks 85( ds Lrj rd

la'kksfèkr fd;k tkuk gSA ekWMqyu ds ckn okgd 'kfDr D;k

gS\

(A) 50 kW

(B) 42.5 kW

(C) 58.8 kW

(D) 25 kW

64- ;fn f (t) = eat gS] rks bldk ykIykl :ikarj.k (s > a ds

fy,) fuEu }kjk fn;k tkrk gS %

(A) )(
2

as
s

a
−+

(B)
)(2 as−

π

(C)
)(

1

as−

(D) ekStwn ugha gSA
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65- ;fn iVZcsZ'ku H' = ax] tgk¡ a ,d fLFkjkad gS] dks ,d

vuar oxZ dq,a {kerk esa tksM+k tkrk gS

{ otherwise

xorf

xV
π≤≤

∞
=

00

)(

a esa xzkmaM voLFkk ÅtkZ esa igys Øe esa lq/kkj gS %

(A) aπ (B)
2

πa

(C)
4

πa
(D)

2

πa

66- 18oC ij ,d f}ijek.kqd xSl vius ewy vk;ru ds 
32

1

xquk rd #)ks"e :i ls ladqfpr gksrh gSA laihM+u ds ckn

rkieku gksxk %

(A) 18
o
C (B) 144

o
C

(C) 887oC (D) 891oC

67- bysDVªkWfud cSaM LisDVªk ________ esa ns[kk tkrk gS %

(A) n`'; vkSj ijkcSaxuh {ks=

(B) vojDr {ks= ds ikl

(C) ekbØksoso {ks=

(D) lqnwj vojDr {ks=

68- r = 0 ij fLFkr dsanzh; cy {ks= esa xfreku dksbZ d.k

lfiZy r = e–θ dk o.kZu djrk gS] cy dk ifjek.k

O;qRØekuqikrh gksrk gS %

(A) r

(B) r
2

(C) r3

(D) r4

69- tks nks fcV =qfV;ksa dk irk yxk ldrk gS\

(A) iSfjVh psd

(B) pØh; vfrjsd psd

(C) iSfjVh vkSj pØh; vfrjsd psd

(D) mijksDr esa ls dksbZ ugha

70- xhtj eqyj dkmaVj esa %

(A) iYl dh Å¡pkbZ che dh rhozrk ds fy, vkuqikfrd

gSA

(B) oksYVst ds lkFk iYl dh Å¡pkbZ c<+ tkrh gSA

(C) iYl dh Å¡pkbZ fLFkj gSA

(D) mijksDr esa ls dksbZ ughaA

65. If the perturbation H' = ax, where a is a constant,

is added to an infinite square well potential

{ otherwise

xorf

xV
π≤≤

∞
=

00

)(

The correction to the ground state energy to first

order in a is :

(A) aπ (B)
2

πa

(C)
4

πa
(D)

2

πa

66. A diatomic gas at 18
o
C is compressed adiabatically

to 
32

1
 times of its original volume. The temperature

after compression will be :

(A) 18
o
C (B) 144

o
C

(C) 887oC (D) 891oC

67. Electronic band spectra are observed in :

(A) visible and ultraviolet region

(B) near infrared region

(C) microwave region

(D) far infrared region

68. A particle moving in a central force field located

at r = 0 describes the spiral r = e–θ, the magnitude

of the force is inversely proportional to :

(A) r

(B) r
2

(C) r3

(D) r4

69. Which can detect two-bit errors?

(A) Parity Check

(B) Cyclic Redundancy Check

(C) Parity & Cyclic Redundancy Check

(D) None of the above

70. In G-M counter :

(A) pulse height is proportional to the intensity

of the beam.

(B) pulse height increases with voltage.

(C) pulse height is constant.

(D) None of these.

– 0 –
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Method for marking answer

3. Ñi;k mÙkj&i=d esa lHkh çfof"V Hkjus ds fy;s dkys jax ds cykbZV isu dk gh ç;ksx djsa ftlesa nsjs dks dkyk djuk
Hkh 'kkfey gSA ,d ckj Hkj fn;s tkus ds ckn çfof"V cnyh ugha tk ldrhA ;fn vH;FkhZ us xyr çfof"V;ksa Hkj nh gS
rks mlds cnys esa nwljk mÙkj i=d ugha fn;k tk,xkA
Please use only black ball point pen for making all entries in the Answer Sheet which includes darkening

of the ovals- Entries once made can not be changed- Replacement Answer Sheet will not be provided if

incorrect entry made by the candidate.

4. bl mÙkj&i=d dks flLVi }kjk çkslsl fd;k tk;sxk] vr% Ñi;k lqfuf'pr dj ysa fd çfof"V;k¡ lgh vkSj iwjh gSaA ,slk
u gksus ij flLVe okafNr lwpuk ugha ys ik;sxkA
This Answer Sheet will be system processed. Hence please ensure that the entries are correct and complete,

falling which, the system will not capture the desired information.

5. Ñi;k ijh{kk&d{k ls ckgj fudyus ls igys mÙkj&i=d ,oa iz'u&iqfLrdk i;Zos{kd dks lkSai nsaA
Please handover the OMR Sheet and Question Booklet to the invigilator before leaving the examination hall.

6. mÙkj&i=d esa dksbZ Hkh vU; fu'kku ugha yxk,¡A fdlh Hkh vU; dkxt] x.kuk e'khu] eksckby vkfn dk bLrseky oftZr
gS vkSj ,slk djus ij v;ksX; Bgjk;k tk;sxkA
Do not put any stray marks anywhere on the answer sheet. Use of any other paper, calculating machine,

mobile etc. is prohibited and will lead to disqualification.

7. Åij of.kZr fdlh Hkh vuqns'k dk ikyu u djus ij vkidk mÙkj&i=d vekU; gksxk vkSj mldh tk¡p ugha dh tk;sxhA
Failure to adhere to any instruction given above will render your answer sheet as invalid and it will not

be evaluated.
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